Goa Staff Selection Commission

6th Floor,3rd Lift, SPACES Building,Patto Plaza, Panaji-Goa - 403001.

Question Description *

A*

B*

C*

D*

E*

Marks *

Answer *

Question Description *

Computer Based Test
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E * None of the above

Marks * 1

Answer * d

Question Description * HOIBR GIHB] Igel Aid, ZIETd JH..... Hod Hleci gid.

A * CIRGLI

B * gel

C HITRI

D * TG

E * None of the above
Marks * 1

Answer * d

Question Description *

A+ BSRUC|

B+ Teol

- deeh

D* el

E * None of the above
Marks * 1

Answer * d

Question Description * HHe5 |1 IRTD TMicl AT G H1d ORI ?

A * fret
- TS5®
C we
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D * B

£ None of the above
Marks * 1
Answer * d

9247 qUIH OR, TRdid AqUTdH ST 3T Hhsih
Question Description * PIELIC

N T
B* s

c da

5 e

E * None of the above
Marks * 1

Answer * b

0N TV ST, foz1d! TUIedR Ui, had FUIdR didil
Question Description * Wg@w

N &l
5 A

. e

> el

E * None of the above
Marks * 1

Answer * C
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Question Description *

A* Fﬁ"l-ﬂ-
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10

E*

Marks *

Answer *

Question Description *

A*

B*

E*

Marks *

Answer *

Question Description *

A*

B*

E*

Marks *

Answer *

SayTd
HATOR
3D

None of the above

a1 3T oY1 g . 7 aTeia AT fove fowan 2

AT
HITO!
i
foRToy

None of the above
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None of the above
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Question Description *
A *
B *
C*
D *
E *

Marks *

Answer *

Question Description *

A*

B*

E*

Marks *

Answer *

What is the word for ' marks that cannot be easily removed' ?
permanent

indelible

stubborn

unreliable

None of the above

Select the correct meaning of the following idiom:
A snowball effect

Something that gains momentum
The falling of snow

The effect of heavy snowfall

The making of snowballs for effect

None of the above
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Question Description *

A
-
cs
D+
‘-

Marks *

Answer *

Question Description *

B*

C*

D*

E*

Marks *

Answer *

Question Description *

Identify the proper nouns in this sentence:
Traveling to Venice has been the lifelong dream of Mona and her
parents.

Venice, dream, Mona, parents
Venice, Mona

Venice, Mona, parents

Mona and her parents

None of the above

Fill in the blank with the correct option from those given
below.
s it true that the road since yesterday?

is closed

was closed

will be closed

has been closed

None of the above

Fill in the correct modal in the given sentence:

You are the only one responsible for the event. You do the

needful.

shall

must

would

can

6/25



None of the above

E *
Marks * 1
Answer * b

Question Description * Which of these is a Noun Phrase?

The uneventful morning

A *

B * Was his alone

C* beautifully

D * The uneventful

£ * None of the above
Marks * 1

Answer * a

Supply the correct collective noun in the following sentence:
The soldiers were attacked by a of arrows from the

Question Description *
enemy camp.

A * group
B * quail

C* set

D * quiver

£ * None of the above
Marks * 1

Answer * e

Fill in the blank with the correct option from those given
below.__

Question Description * _ .
Since the elevator was not working she took the

A * stair

B * stairs

7125
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20

21

E*

Marks *

Answer *

Question Description *

A
-
cs
.
‘-

Marks *

Answer *

Question Description *

D*

E*

Marks *

Answer *

Question Description *

steps
footsteps

None of the above

Fill in the blank.
A noun is

word.
a naming

an important

an incomplete

an abstract

None of the above

Fill in the blanks with the correct preposition:
me as if | didn't exist.

They walked
near

across

to

past

None of the above

Sujal wants to fence a circular garden of radius 7m.How
much rope is required if he makes 2 rounds of rope ? (1t =

22
=)
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E*

Marks *

Answer *

Question Description *

B*

C*

D*

E*

Marks *

Answer *

44m
88m
308 m
14 m

None of the above

If the radii of two concentric circles are 9 cm and 4 cm
respectively,then the distance between their centres is ------
cm.

13

None of the above
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24

25

Question Description *

A*

E*

Marks *

Answer *

Question Description *

E*

Marks *

Answer *

Question Description *

A*

B*

A Regular polygon having 10 sides is called ----------- .
Heptagon

Decagon

Pentagon

Octagon

None of the above

How many times during the day do the hands of a clock
form a straight angle ?

12
24

None of the above

Which vowels will have more than 1 line of symmetry?
land O
A and E
Hand X
Aand O

None of the above
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27

28

Answer *

Question Description *

E*

Marks *

Answer *

Question Description *

E*

Marks *

Answer *

Question Description *

Find the number of soaps of size 2.1cm x 3.7cm x 2.5cm that
can be put in a cuboidal box of size 6.3 cm x 7.4 cm x 5cm

14
12
13
11

None of the above

The LCM of 45 and 42 is --------- )

1892
87
630

None of the above

In a triangle, the angles are in the ratio 2: 5: 3. What is the
value of the least angle in degrees?
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30

31

E*

Marks *

Answer *

Question Description *

A*

B*

E*

Marks *

Answer *

Question Description *

D*

E*

Marks *

Answer *

Question Description *

None of the above

What number must be added to each term of the ratio 9: 11
so that it becomes 4 : 5

-2
-1

None of the above

A man bought a scooter on 12 monthly instalments . He paid
Rs 6000 as the first instalment and thereafter for each
instalment he paid Rs 250 less than the previous month. By
instalment if he paid Rs 3150 extra over the original price,
then the original price of the scooter was Rs ...........

55500

52550

52350

53250

None of the above

Which of the following figure among 1, 2, 3, 4 and 5 does not belongs
to the group?
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.©:0 .00 -0

A* 1
B* 2
c* 3
D* 4
£ * None of the above
Marks * 1
Answer * d
Choose the option from the answer figures labeled a, b, ¢ and d which
resembles the water image of the following image.
&
A
Question
Description
a b L= d
A* 4
B* b
C* ¢
D* d
£+ None of the above
Marks * 1

Answer * d
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What will come in place of question mark?

Al Al A llal 2

Description * 1 2 3 4

B*

£+ None of the above

Marks *

—_

Answer * b

A circular sheet of paper is folded and cut as shown below. Choose
the correct option that would appear when the sheet of paper is
opened?

Question Description * - él

14/25



35

A*

B*

E*

Marks *

Answer *

Question Description *

E*

Marks *

Answer *

T E el (e [ae) (b4
§ ¢ o CIR- & & D &

Which of the following figure among 1, 2, 3, 4 and 5 does not

belongs to the group?

AY
vA

=

2.

A

\4
AV

A A
Va

Ay
VA

None of the above
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Question Description *

E*

Marks *

Answer *

Question Description *

E*

Marks *

Answer *

Read the following information carefully and answer the following
question.

(1) K % L means L is the mother of K.

(i) K +L means K is the brother of L.

(ii1) K-L means K is the sister of L.

(iv) K=L means L is the father of K.

Which of the following symbols needs to replace the question
mark in the given expression such that D is the granddaughter of
A?

D? X% H=A
%

+

None of the above

In the following question few statements are given and these
statements are followed by conclusions. You have to take the given
two statements to be true even if they seem to be at variance from
commonly known facts. Read the conclusions and then decide
which of the given conclusions logically follows from the given
statements, disregarding commonly known facts.
Statements:

Some hens are parrots.

Some ducks are parrots.

Some hens are ducks.
All ducks are parrots.
Some hens are not ducks.
All hens are ducks.

None of the above
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39

40

Question Description *

E*

Marks *

Answer *

Question Description *

A
-
cx
.
‘

Marks *

Answer *

Question Description *

A*

B*

Study the following information carefully and answer the
following question.

Varun, Vineet, and Vikas are Smart.

Varun, Viraj and Vimal are Confident.

Vikas, Viraj and Vimal are Brave.

Varun, Vineet and Vimal are Sensitive.

Which of the following persons is neither confident nor sensitive?

Vikas
Viraj
Vineet
Varun

None of the above

If ‘ELEPHANT’ 1is written as ‘LEPEAHTN’ then how
‘CROCODILE’ will be written as?

CORCELIDO
RCCODOLIE
DILECROC

RCCOODLEI

None of the above

If A’s rank is IOth from the left end and B’s rank is 12th from the
right end. What is the total strength of the class?

Cannot be determined
22
24

21
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E*

Marks *

Answer *

Question
Description

*

41

E*

Marks *

Answer *

42

None of the above

In the circuit shown below, the power consumed by 2 ohm resistor
connected between A and B is

A

S

6V

2 ohms B 2 ohms

™, A AN A

12V

12 W

oW

4 W

ow

| .

None of the above

1

d

Question Description *

A*

B*

The output of the sequential circuit depends on
Present inputs only

Past outputs only

Both present inputs and past inputs

Past inputs only
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44

45

E*

Marks *

Answer *

Question Description *

A*

B*

E*

Marks *

Answer *

Question Description *

D*

E*

Marks *

Answer *

Question Description *

A*

None of the above

When separately connected across a given supply, two
resistances consume 30 W power each. If they are connected
in parallel and then connected across the same supply, they
will consume

15 W power
30 W power
45 W power
60 W power

None of the above

The bond formed due to the sharing of electrons by two
silicon atoms in a semiconductor is called

Covalent bond
Conduction bond
lonic bond
Collateral bond

None of the above

The power dissipated by a pure capacitor when connected
across the AC supply will be

Very High

19/25



46

47

48

E*

Marks *

Answer *

Question Description *

E*

Marks *

Answer *

Question Description *

A*

B*

E*

Marks *

Answer *

Question Description *

Medium

Low

Zero

None of the above

In AC circuits the power factor of current drawn from the

source will be
Between 0 to 1
Between 0.5 to 1
Between -1 to 1
Between -1to 0

None of the above

For microprocessors, an Accumulator is used for
Accumulating numbers

Storing temporary data in ALU

Accumulating addresses

Sending Control signal

None of the above

Kirchhoff's current law is valid for
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A * AC Circuits only

B * DC Circuits only

C Both AC and DC Circuits

D * Only circuits with a battery as a source
E * None of the above

Marks * 1

Answer * C

Question Description * Which of the following is not a transducer

A Microphone

B * Strain gauge

C* Thermocouple

D * Amplifier

E * None of the above
Marks * 1

Answer * d

An inductive coil of 10 H develops an emf of 40 V. What

Question Description * should be the rate of change of current in the coil?
A 40 A/ s

B * 40 A/ms

- 4A /s

D+ 400 A /s

E None of the above

Marks * 1

Answer * C

21/25



51

52

53

Question Description *

A*

B*

E*

Marks *

Answer *

Question Description *

A*

B*

E*

Marks *

Answer *

Question Description *

A*

B*

E*

Marks *

In mesh topology, relationship between one device and
another is

Primary to peer

Peer to primary
Primary to secondary
Peer to Peer

None of the above

What is the purpose of DHCP in networking?

To assign IP addresses automatically to devices on a network

To establish secure communication between devices
To create a virtual private network
To filter network traffic based on IP addresses

None of the above

What is the significance of snapshots in virtualization?
Accelerate internet speed for virtual machines

Capture the current state of a virtual machine for backup
Manage user authentication for virtual environments
Encrypt file systems within virtual machines

None of the above
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55

56

Answer *

Question Description *

A*

B*

C*

D*

E*

Marks *

Answer *

Question Description *

A*

B*

E*

Marks *

Answer *

Question Description *

A*

B*

FTP server listens for connection on port number
20
21
22
23

None of the above

Which of the following layer of OSI model is also called end-
to-end layer?

Presentation layer
Network layer
Session layer
Transport layer

None of the above

Low level formatting of hard disk refers

Creating partition of the hard disk

Creating empty space on the hard disk

Creating and numbering tracks and sectors on the hard disk

Is same as logical formatting of the hard disk
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58

59

E*

Marks *

Answer *

Question Description *

A*

B*

E*

Marks *

Answer *

Question Description *

A*

B*

C*

D*

E*

Marks *

Answer *

Question Description *

B*

None of the above

What does the term "BIOS" stand for in a computer system?
Basic Input/Output System

Binary Input/Output System

Basic Internet Operating System

Basic Interface for Operating Systems

None of the above

A network that needs human beings to manually route
signals is called

Fiber Optic Network
Bus Network
T-switched network
Ring network

None of the above

Which HTTP status code indicates a successful request in
web development?

200

404
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E*

Marks *

Answer *

Question Description *

E*

Marks *

Answer *

500
302

None of the above

Fragmentation of data on a computer hard disk causes

it to work faster than before fragmentation of data
it to work slower than before fragmentation of data
it to work faster than after fragmentation of data
All of the above

None of the above
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